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QUESTION 1

Which requirement would be classified as a functional requirement within the application design documentation?

A. The application must be hosted with redundancy levels of N+1 or better.

B. Penetration testing must be executed quarterly with a pass rate of 80% or higher.
C. The application must be capable of handling 200 transactions per second.

D. Administrators must monitor the network traffic of the desired systems.

Correct Answer: C

QUESTION 2

An architect is designing a VMware solution for a customer to meet the following requirements:
The solution must use investments in existing storage array that supports both block and file storage.
The solution must support the ability to migrate workloads between hosts within a cluster.

The solution must support resource management priorities.

The solution must support the ability to connect virtual machines directly to LUNSs.

The solution should use existing 32G fabric infrastructure.

There is no budget for additional physical hardware.

Which design decision should the architect make to meet these requirements?

A. The ESXi hosts will leverage Fibre Channel (FC).

B. The ESXi hosts will leverage iSCSI.

C. The ESXi hosts will leverage Fibre Channel over Ethernet (FCoE).

D. The ESXi hosts will leverage NFS.

Correct Answer: A

QUESTION 3
An architect is designing the expansion of an existing vSphere 7 environment. The customer is requesting

a design for a new cluster to support the anticipated future business growth. The requirements specified
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for the existing environment design must be considered when designing the new cluster.
The existing design has the following requirements:

REQO1 The environment has an availability target of 99.5% for all infrastructure.
REQO2 The recovery time objective (RTO) for Tier 1 virtual machines is one hour.
REQO03 Windows and Linux virtual machines must reside on separate clusters.
REQO4 Access to the management cluster within the environment must be controlled.
Which of the listed requirements would be classified as a functional requirement?

A. The environment has an availability target of 99.5% for all infrastructure

B. The recovery time objective (RTO) for Tier 1 virtual machines is one hour

C. Access to the management cluster within the environment must be controlled

D. Windows and Linux virtual machines must reside on separate clusters

Correct Answer: A

QUESTION 4

An architect is designing storage for a new vSphere environment to meet the following requirements:
Asynchronous replication is required between two sites.

The impact on the storage layer should not impact the performance of the compute layer.

Each application tier will require different replication attributes.

Virtual machine live migration across compute and storage must be supported.

Virtual machine aware back up will be leveraged.

Operational management overhead should be minimized.

Operational automation should be supported.

Which storage design recommendations would meet the requirements?

A. Two new Fibre Channel storage arrays will be deployed, one at either site. Each application tier will be initially
provisioned a new LUN. Data replication will be offloaded to the new arrays.

B. Two new vSphere clusters enabled with vSAN will be deployed, one at either site. vSAN will be used to provide policy-
based management for each application tier. vSphere Replication will be used to replicate the virtual machine data in an
asynchronous configuration.

C. Two new ISCSI storage arrays will be deployed, one at either site. Each application tier will be initially provisioned a
new LUN. Data replication will be offloaded to the new arrays.

D. Two new storage arrays will be deployed, one at either site. vSphere Volumes (vWOLS) will be used to provide policy-
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based management for each application tier. Data replication will be offloaded to the new arrays.

Correct Answer: A

QUESTION 5

An architect is tasked with designing a greenfield VMware software-defined data center (SDDC) solution that will be
used to deliver a private cloud service for a customer.

During the initial meeting with the service owner and business sponsor, the customer has provided the following
information to help inform the design: The solution must support the concurrent running of 1,000 virtual machines The
production environment must be delivered across two geographically dispersed data centers All virtual machines must
be capable of running in either data center. The two data centers are currently connected to each other through a single
but diversely routed, high bandwidth and low latency link. The link between the two data centers is capable of
supporting a round-trip time (RTT) of 150 ms The existing server hardware standard document states that all virtual
infrastructure hosts must be deployed using vSAN ReadyNodes The service owner has stated that it is critical to ensure
the availability target of 99.9% All virtual machine backups must be completed using the existing backup service The
recovery time objective (RTO) for the service is five minutes The recovery point objective (RPO) of the service is four
hours

Which two elements represent risks to the successful delivery of this solution? (Choose two.)

A. The use of only two data centers

B. The network connectivity between data center sites

C. The use of vSAN ReadyNodes

D. The RTT on the link between the two data centers

E. The use of the existing backup service

Correct Answer: DE
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